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run_13057017 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Feb 26 06:57:50 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

70

60

RMS (ADC-ped)

50

40

30

20

10

= CEEEENIII00CEEEEREIIJ00CEEER NI 300(

0

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

70 [

60

RMS (ADC-ped)

so
40
30 fr
20

10

T N N N i
o 20
APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

70

60

RMS (ADC-ped)

50

40

30

20

10

B LA L s s Ak st i

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

100 f=rrrr e e e e e T rre e e s R L e e R L e e

RMS (ADC-ped)

APV channel




run_13057017 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Feb 26 06:55:32 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

.
2
Q

a)
<

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADGzped

I
3000 4000
raw ADC

1
1000 2000

[ADC for FGT RDO=LARM=2,APV=2 }

ADOzped

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

0 1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

° =
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B R £ PR R | R E T
< =
3000 P=f—|- <= {-t-f---- R L Rl EEL L EE R
=
P = o EEERER S RERER e R R e R R EL LR
= 8
2000 f=—|- <~ {-t-f---- e R Rl EEL LR e L EE EELLELE
= i
1500 |- [« 4=t < p -~ - B B ] e e R
1000 P=t—|- A= 41 -f - - - 1 EFEE B BUEEE £ EPE PR | DEEEEEE PR PR
= 8
= 8
500 fet—|- (- 4=t} --n- caol|olleposdllsllocalsoscosdscboscasss
= 2 8
= . 2
()= = SEEEEE Y EEREE BT e e e 1 e e
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

rm
m
rm:
rm:
L
b=
=
L
b=
=
L
b=
=
L
I
0

[ ADC for FGT RDO=1,ARM=2,APV=2

1
120
APV channel

- 4000 py
] = . . . .
g = 2 2 2 2
Q 3500 f—+ - {-{-}-F-f -4k -t-
< =
3000 [l - {-{-}-F-f -2k -t-
H
2500 pE—-A-{-1-}-F-F 424 F---- - t-
=
2000 [ =
=
1500 B 4-1-1-f-r- - 1 o SEEELE ==
1000 B - 1-1-f-r-F -4k ==
L
500:-:—----------- s olho
rm
o -t - - e
is i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F= -
< =
3000 = |- 1~
2500 = - 1-
2000 f=r— - 1
=
1500 f= -
1000 P=— - 4 -
=
=
500 == -|- -
=
o1
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=4

80 100 120

APV channel

3 4000 p
5 =
2 3500 |- - -0 -- Jtocacdle
< £
3000 |- -+ - - - - Jbocsclls
2500 - - - - - - i
rm
2000 |- - - - - - N R
=
1500 |- - - - - - - B
H
1000 P - - - - - - N .
=
500 ff—|- - - - - - Jbocsclls
i
o —---- 555600l
L L . .
o 2

APV channel

.. LA LA RS D

10

10"

10°

10"

10

10°

10

10°




run_13057017 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13057017 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Sun Feb 26 06:57:43 2012
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run_13057017 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Sun Feb 26 06:58:15 2012
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